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Topic:- Child Development & Pedagogy (CDP)

1) are the self-fulfillment needs according to Maslow’s Hierarchy of needs. | HTEAY BT RO
PTUSHHH & AR wW-yfd #} sraxawarnt g1

1. Self-actualization / 3TH-fazayor

2. Physiological needs / ERICACAEI CERE
3. Belongingness and love needs / fa%/ 3R @R &Y 3awaerar

4. Esteem needs / JoI 31

Correct Answer :-

. Self-actualization / 3TH-faTayoT

2) What part of the personality operates on the pleasure principle according to Freud? /

WIS & AR, 3¢ Rigia W sfdicd &1 I |1 YR JaTferd giar 82
1. Ego ideal / 31 3Mexf (M 31SSd)

2. Superego / TRTE (JURSM)

3.1d / USG9 (358

4. Ego / 318 (31

Correct Answer :-

. 1d/UgdH (3331

3) What is the time in a child’s life between childhood and adulthood known as? / dTcATdRT MR

TUFH Al P ST TP g & Siia- | S 91 IHT giar 8?2
1. Adolescence / fPRIRTIRIT
2. Menarche / W—C{Qﬁ

3. Middle childhood / H dTcdTdRT
4, Puberty / BICE]

Correct Answer :-



« Adolescence / fhIRTaRIT

4) What is the term given to describe the sudden ‘aha!” moment that sometimes helps us solve

problems? / 3ET® “3(gT” &1 HT qui< H1 & fore i I1 g f&ar mar 3, ot wft-aoft o
JUXT3M B A B | Heg Bl 82

1. Flashbulb / FoiRT §cd
2. Insight / 3FTEY

3. Observation / QB
4. Deduction / TRRUMH

Correct Answer :-

 Insight/ 313%@

5) What is the term given to denote the ability of a test to consistently measure what it is designed to

measure?/Wuﬂ&maﬂ&mﬁﬁﬁﬁamﬁ%maﬁﬂmwﬁmw%mm
q U & fore 39 fswms= frar man @2

1. Norms / AFGS
2. Reliability / fayg=adr
3. Reasoning / LY

4. Validity / Q&

Correct Answer :-

« Reliability / fayg=aar

6) Benefits of Inclusive Education are: / THTART 2181 & @TH §:
1. Develops moral and ethical principles only / &ad Afas 3R Hfaera Rigia fasla s

2. Increases communication and social skills only / Fae TdR 3R TTHITG BRI TSI

3. Increases acceptance and appreciation of diversity only / Pad fafderdr o Wﬁf 3R v deld
4. All of the above / ITad T+ft

Correct Answer :-

« All of the above / Iudad T+t

7) The urge to provide care and protection to offspring is motive. / Tl BI @HTA 3R
TRET USTH B BT TS SRR B |

1. Sex / A
2. Maternal motive / HIq YR



3. Achievement / ST

4. Affiliation / J&YT

Correct Answer :-

« Maternal motive / HIJ YR

8) Which of Erikson’s stages of psychosocial development results in the virtue of competence? /

TR & TR faer & $19 3 9Ror & gfagifar ureen faeia g @2
1. Trust vs. mistrust / 94T S99 Sifayra

2. Intimacy vs. isolation / RIREGIEEIEENUIC]

3. Ego integrity vs. despair / 378 e dl § Y fARr=m

4, Industry vs. inferiority / URed a9 B

Correct Answer :-

+ Industry vs. inferiority / US| 41 B

9) Which of the following strategies cannot be used by a teacher for a mentally retarded learner? /

Rrere gRT AR U A He Rrendf @ k) & o Fufafaa 7 3 fog srd-fAfa &1 Sy a8t
far o1 gpar 22

1. Breaking smaller tasks into large steps. / DI ®é- H1AT ¥ I B | [JHIRIT BT

2. Presenting the information to learner using visual aids. / €% TgH &Il I R Rremeff (FFTT) DI THABRI Udd
DT

3. Involving the learner in group activities. / THg Tfafafirat & fRiensff (@) & <nfire H=r|

4. Providing the learner with immediate feedback. / fR1&mf (@R) & depTal Ufafhar ueM &

Correct Answer :-

» Breaking smaller tasks into large steps. / B Bfed Bt T3 P H fquIiord &

10) According to Good and Power, which category of students are more likely to engage in outbound
activities? / 3ITBTS 3N TIEAT & AR, B B fHa Ao & snearss nfafaftmt & waw a1 3t siftre Guran
8

1. Social / JTATH
2. Phantom / a‘ﬁ'ﬁ[
3. Successful / hcdl

4. Dependent / R

Correct Answer :-

e Social / GTHIT®



11) Specialized teaching strategy geared toward supporting student’s learning is ./ BT & drE= &1
YT T & g R fafkre Rraror vorfifa gl

1. Writing / SECR]
2. Scaffolding / TP

3. Reading / UId

4. Brainstorming / dAR-HY

Correct Answer :-

 Scaffolding / TP

12) Which of the following is not one of the main method of deriving traits? /ﬁ?ﬁ@ﬁﬁ@ﬂﬁw U
3 3 ger fafr 4 ve Adi 82

1. Hypothetical / UTddh cUATHD
2. Lexical / Xfeqep

3. Statistical / iR&THIT

4. Theoretical / Sgifad

Correct Answer :-

» Hypothetical / UTddh cUATHD

13) Which of the following is true about modern evaluation? / GIT?:[ﬁﬁ? e FIN # Fafrf@a g s
w1 e?

1. Summative evaluation / TRTIqH® Hedih

2. Continuous evaluation / Jdd HedTdh"
3. Product orientation / 3dIq EFH@WUT

4. Rote learning / T¢HR HIRGAT

Correct Answer :-
« Continuous evaluation / T Hedih

14) Which among the following is NOT the focus in planning and delivering a developmental, comprehensive

guidance and counseling program? / Fafafead G« faom, sarue URieR 3R W=l HrfswhH Ht
o1 g9 SR faafva s & s Sfsa T sxar 32

1. Financial / faita

2. Personal / HTGTd

3. Social / THTH

4. Academic & career / QI&OTHAT 3R HRAR

Correct Answer :-



o Financial / ﬁ?ﬂ’q

15) Who elaborated an enormously complex notion of natural development under a thinly disguised divinity?

/ frem et 9 U d faauar & dgd wrpfas fawr &) ve saus wfee yrun &t fawga fean
1. Baldwin / STes e

2. Erikson / Ra

3. Piaget / fOTTS!

4. Vygotsky / ATZTTIab1

Correct Answer :-

« Baldwin / STeSfeH

16) The value of standard deviation in the ‘Deviation IQ distribution’ is: / fe= Gﬂgﬂﬁ?ﬂm' A H®
IEEREEIR:IE N

1.1
2. 15
3.10

4.0

Correct Answer :-

17) The environment in which children grow up will how they think and what they think about. /

IERRIERE L R e ¢ 6 a5 H Hiear € ok 95 FT A= 2
1. maintain / ST

2. weaken and disturb / FHSIR SR TRRIH

3. scare / ST

4. influence |/ UHTfad

Correct Answer :-

« influence / UHIfad

18) gender division is defined as . /ﬁi‘Tﬁ‘H’l\_ﬂ:{ﬂ'ﬁ & & H it foar
T™argl

1. Division between male employees and female employees. / ¥ ﬁ?ﬂ%ﬁﬁﬂﬁ@f%ﬁaﬁlﬂml
2. Biological differences between males and females. /W ﬁ?ﬂ%ﬁﬁ%éﬁ[% 3R
3. Male to female ratio. /g}?&@rrﬂ%mahm SJUId |



4. The hierarchal roles of males and females within society. / THTS & 3fcfa ﬂ'\’?ﬁﬁ 3R Hfganstt @t YaldhH
yftraraft|

Correct Answer :-

« The hierarchal roles of males and females within society. / THS & 3fdid Q’\Fﬁﬁ 3R Tfgermsit o) YalshH
Yftraraff|

19) What is teaching through deductive method? / o= fafer a1 ﬁT&‘I’UTWT%?
1. From macro to micro / Al A ﬁ'l's{ﬁ ddh

2. From general to specific / JMHI q fafdry a®
3. From specific to general / fafery @ 9= a&
4. From easy to difficult / 3T I PfoTa®s

Correct Answer :-

« From general to specific / IHT q fofdy a%

20) Students don’t want to learn new concepts whichare_____ . / Qﬁ et = - ﬁ?f % a 7-|€
AU B WraT T aea ¢ |

1. Ambiguous / T H
2. Intelligible / GfGITR

3. High quality / §8d%

4. Plausible / AI-Tr

Correct Answer :-

« Ambiguous / Tfererde

21) Which of the following statements is NOT true? / fFafafaa sy d Q Cack: k) T-Iﬁ%'?
1. Some diseases and disorders are a product of inheritance. / $& AT 3R fFAFR CRURUG] gl

2. Enriched environment enhances child’s development. / dH& dIdTARU] T & faprg &Y deldl %’ |

3. All genetic disorders can be prevented by taking proper measures. / 3 RId SURT v I sﬂaaﬁm IECZRCE
YT S Fhal 5 |

4. Children are able to learn more finite skills through play. / I WA & A1eaH I 34f¥ uRftd oiere dea o
e g |

Correct Answer :-

o All genetic disorders can be prevented by taking proper measures. / IFad Iurg HR It @ﬂﬂaﬁﬁa fasRi &1
AT S Fhal g |

22) In Piaget’s theory of cognitive development, what is the goal of the ‘Concrete operational’ stage? / e &

TS [ & Rigia §, qd Sirarare sawir &1 aea &1 82



1. Operational thought / Sfbaraddsd faar
2. Abstract concepts / G-I'lj?f SAYROT

3. Object permanence / ¥ fRuRar

4. Symbolic thought A GIEAEACEIR

Correct Answer :-

« Operational thought / HfehaTed® fdaR

23) Which of the following is not a concept related to classical conditioning? /fFafafead g P Il TR
P (RrRufaffa wgea) | Wafta sauron =8 32

1. Neutral stimulus / dc® BECTW

2. Conditioned response / \}Iﬂaﬁlﬁ Gﬂm

3. Shaping / 2T (AfthT)

4. Stimulus generalization / REALCRSIEIRIER

Correct Answer :-

« Shaping / FreTur (ift)

24) Each child is unique. This statement refers to the principle of: / U@ T 3Afgda g1 U8 FUT

_ ¥ fhgia o Heffa sar gl
1. Continuity / [REGRG]

2. Uniform Pattern / Yh=Ydl

3. Integration / W@WT

4. Individual Differences / ATfdIdp feIdT

Correct Answer :-
« Individual Differences / AgfaIdp fHeIdT

25) Similar attributes are combined together by the child to form ./ F fFufud s=
TR TS I1Y A fayarsit & frars s=man sirar 8

1. Concepts / dYIRT

2. Letters / 3{&R
3. Words / Rleq
4. Judgments / SJHIH

Correct Answer :-

» Concepts / AdYIRT



26) Children gain a good understanding of scientific reasoning and practice because of

pedagogical approaches that focus on: / Q&ifor® eRHIU § fFT R o= Higd 1 A = agfae
T 3R 3T Tt ISt THS TR P 8

1. Writing skills / TG &l
2. Scientific ideas / a@% foar

3. Communication / GdIR

4. Student activity / ﬁ_ﬂTzﬁm

Correct Answer :-

« Scientific ideas / M fAIR

27) Inclusive education is a new towards educating the children with disabilities. /

Tt Riaror, Ry awii B Rifd@ $e 3t Rexn & we T 2
1. Demand / AT

2. Approach / SURTH (¥ 10N

3. Direction / e (fg=m)

4. Process /EIW

Correct Answer :-

« Approach / 3UNTH @f@?ﬁ'ﬂ)

28) Ignoring of the learning- readiness would result in ./ 3iferTy - TURAT DI SU&T
¥ R WX givome &

1. Development /ﬁw
2. Maturation / ORU&dT

3. Improvement / JYUYR
4. Frustration / FFRT]

Correct Answer :-

« Frustration / IERIQI

29) Self-evaluation by a teacher shows his role as a . | T g gr1 - gD

_ Yfereigiarel

1. Classroom researcher / @efT et
2. Reflective practitioner / fdaRzita E[f%@ (thﬁ%a m)

3. Co- learner / ﬂg—ﬁT&ﬂtﬁ(ﬂ:‘;{)
4. Facilitator / UfRi&ies

Correct Answer :-



» Reflective practitioner / [EEIRCU] ?{f%l?ﬁ (W m)

30) What does the term 'Dyslexia’ denote? / TSR Y fHd fFAefia Ha1 82

1. Difficulty in taking notes. / ¢ o+ & dAH A |

2. Learning difficulty that can cause problems with reading, writing and spelling. / e 3t m St qﬁ, fora
3R gt & e Ut R Fhdll 6|

3. Learning difficulty with number processing and calculation. / AT UHIDHI0T 3R UM & 1y WRa # ml
4. Specific handwriting disability. / fafery ferarae faaaiman

Correct Answer :-

» Learning difficulty that can cause problems with reading, writing and spelling. / e 3t m St Uﬂ_ﬁ, foram
3R ot & FE Ul R w6 |

Topic:- General Sanskrit(L1GS)

1)

;ﬂ * Y Ly L e tq{[at_lfa\q_q_\?

) Jo5ehichH |

N FHNEHIH |
. TR |

. WA

Correct Answer :-

2) -
‘ARTRMEH A JUdl &h: ?
1. )



4.

Correct Answer :-

RMEdSH |

2. |

L

|l |

4TNWUTEI

Correct Answer :-

Correct Answer :-

ad



N Tl SIS TSR R ?
1. fc |

=, L
= 0d |
2.
™ L
, U |
o [
\ =1d |
Correct Answer :-
. L
T=1d |

AR daTeTd &d: Nd: Fid HAT IS ?
1. ‘
TR |

; hIAEJETH |

4E|5|E‘3|3F‘3ﬂ{|

Correct Answer :-

7) . . . . = .
‘YA 4 TT=31d” - HAHA dTH fl'aqi'-ld, =hH_ ?
A |

4|



944 _ |

3.

T3l |

4

Correct Answer :-

4|

8)

e d: T T4 ?

JTROHERAH |

1.

| HENE |

.

Al |

e |

Correct Answer :-

4

i &4 |

=i @ |

2.

i 4|

3.

=i I |

4.

Correct Answer :-



11)

‘SR Fil’ AT A e 2

1. -NE |
<3 AR |

2.

i

G2l |

3.

<3 |

4

Correct Answer :-

12)

T R e PACDECIE R G = I



= .

GdTd U&icaH |

< Yeram |

2.
o B .
| G TR |
P B S g |
4.

Correct Answer :-
o .
qd- &TdH |

13)

‘TeId W TS e e ?
it |

2. \?FEEK'U

, g

, %l

Correct Answer :-

Sdad. |



4.

Correct Answer :-

Correct Answer :-

AEHHA |

i< |

1

2 r\|
ey |

, T |

Correct Answer :-

.

THTH |



17)

g A, 2
1. qﬁaﬁ'
, FET g |
, Tt A

&l g |

= + I |



AN
3 :|
L
qrete: |

4.

Correct Answer :-

20)

HE 27 AU’ SARHA TR THE S0 FG {6 Wi 2

L
, HH

LN
%q |
3..__|r\ r\|

. HEIGHH |

Correct Answer :-

q A |
21) =, . r
‘AR GH A [HHEATHR ThH ?

| ST e

AATAA HegH |

2

| ST Fe A

4 T Hesd |



Correct Answer :-

s ericET-uy

22) e
'JcAIHAd” THA 91G: e ?
3 |
ol |
2.
, Scdd |
q9 |
4,

Correct Answer :-

ol |

23) v e
ITE FRATIE (e -
™ ™

1 9<d |
LY “\|

2.

3. ‘\|

L
.El?l?'ll

4

Correct Answer :-

24)

SIS o IS O Sl 9 o SCARH, aT9 §onT: w: ?




AT, SIaT g5 |

1.

[T |

2.

qeq: |
3.

A |

4

Correct Answer :-

T, SIaT g5 |

Hug: |

4

Correct Answer :-

26)
AN ST TR F: 2
, T |



JUGAT: |
4.
Correct Answer :-

. .
SHAMNCH: |
*
.

27) - .
10 BT I B | s THI Y e
1 Y<HT |

) a4 FIY |
3':|%ﬁl

T |
4,

Correct Answer :-
.
< =lY |

1.

2 STHEHE S |
Socaofer il

3.

a FISM |

4

Correct Answer :-

Socrofee il



29)

=4 3¢y = F: ?
e |

qH: |

2.

LN
AJYd: |

3

, T

Correct Answer :-

30)

TS FRT FIA [&Ed ?
1 2 ‘
2 3 |

THEY |

3.
N
CAMRST DI
4,

Correct Answer :-

-,

EEREN

Topic:- General Hindi(L2GH)

1) 41 Hag gl A

fordt a7 wifg g firaa v g% seg 8 Bt
T pefa 9a o1 31 ¥ § § it @
Pled ed garad S ARHE-I Y ATl
Frat g foramafa ofr ufy 3fa = wra= A
YR Prya At g gaw’ a1 siidt



Tl i Hed | DI gl  STgATT B Sl
F1 I 3fe T & AR @ad g A1 S1a|
g~ g wgd &9 ¢ AIaT B g aR ardll

TR =i ST TR § Fd WTHd Td |

Y@l ¢ ¢ TaTd TaTad §9d 9a ggll
TS 3 AR W grefE wag 7 Wi
e g g 5t A ard srgafa g~ g~ S
g T TAUS IqT oI-19d &1 B Y|

TR T A Mes 3 & wrar gy

ITYT UL Y UgH 1 YD T Uy BT IR 9aq133:
U - S A TaTd HI-91 94 IR-9R I3 1 872

1. TR AT B g2
2. TR & fara 82
3. g4 f&g i T smu g
4. framgudiagr

Correct Answer :-

. TR AC-Ud H1F 82

2) AT Hag T At

et % wife gu fraa s g s @ |
S el g 1 A <01 § € @it /@i
PTed [gd garad o ATRE-I Y3 At
Fra gy foamafa ofr ufy 3fa 1 ara=r A
Grer™ Pryas aaed g gawR & idtl

Tl I Hgd | DI dlgl J STHHNT B Sl
H81 H3 3 N & 9 @ g AfE ol

g g Fgd ®I19 ¢ AIaT B € AR ardll

TR g SAeT MR  Fd WHd M|

Pl ¢ ¢ TqTe Ta1ad 69 99 GBIl
TS B AR W grefE wag T Wi
e g@ R 3t 3 ard sgafa gf g S
GAE BT TAUS TaTS SIHd o1 DI Y|

TR T Hifg e oY 9@ g wrar g

I YRR Y UgH ) YD T Uy BT IR 9a133:
U - TP & AR I 59 veR gy faar w1 w1 32
1. YT

2.3381

3.7

4. dR-dR

Correct Answer :-

o dRR-ARR

3) A1 Hag T A
fordt a7 wifg gu firaa W g% seg & Bt
T pefa 9a @1 31 Y § § aidt A7



FIgd Ted garad uig AMH-H YE At
Frat gy foramafa ofyr ufy 3fa 1 ara=r A
e PArye wHe R gawR 31 S

Tl I Hgd | DI dlgl J STgATT B Sl
He1 H3 3 N & 9 @ g AfE o)

g g Hgd 19 8 T B @ A AT il

TR g SleT MR  Fd WrHd M|

Pl ¢ ¢ TGTe Ta1ad §9d 99 GYPl
TS B AR W <refE wag 7 Wi
e g@ R 3t 3 ard sgafa gf g S
GIg P THE TaTs SITHd o1 B Y|

TR T Hifg e o) 9@ 8 wrar g

I YRR Y UgH ) YD T Uy BT IR 9a133:
U - 9IS AT S T 9 3 B Rivrad a1 361 82
1. foa

2. TY-YTd

3. AR

4. 09

Correct Answer :-

4) BT Hag It A1t

fordt a7 wifg g firaa v g% seg 8 Bt
TN pefd 9a @1 31 Y § § aidt 7
Pled ed garad S ARHE-I Y ATl
Frat g fgrafa oy ufy 3R = ara= A
e frya 7 g sawR # Sid

oY | Hgd Wi DI dvgl TGt B Sl
HE1 B 3¢ R T WY Qo &) 1 |
g~ g wgd &9 ¢ ATaT 3t § a1 ardll

TR g SleT MR 4 Fd WrHd M|

Pl & ¢ aTel TH1ad §9d 99 GYP |l

T A B AR Wit grefE wag 7 Wi
e g@ R 3t 3 ard sgafa gf g S
g P TAHS °qTS oI-Hd &1 P Yd|

TR T Hifg MeE &) 9@ 8 wrar @i

ITYT YRR Y UgHR ) YD ¢ Uy BT IR 9a153:

R - e # St ufdd “ed garaa” &1 Mmfed f wT E 2
1. AT 3R @A

2. TR 3R T8I

3. AT 3R fram

4. T 3R T

Correct Answer :-

o YT 3R TR



5) BUT Hag Tt AT

et S wifg g fra s a1 oeTg @ Bt
TN pefa ga @1 3 Y § § @it @
Pled ed garad S ARH-I1 Y ATl
pral gy forafa afy ofvr gfa 1 wre=
W YT gHIe gk gawR 3t |l

1 i Hed | DI gl  STgATT B Sl
Fe1 B 3fe 9 & aR Qe g i 9ra)
g~ g wed &9 ¢ AIaT i g AR ardll

TR ¢ SrHier M8 & WHd Td|

Y@l ¢ ¢ a1 TaTad §Hd ua ggll

T UIE B IR H Ie8fE wag 7 Wi
e g@ R 3t 3 ard sgafa gi~ g
g T TAUS IqTS oI-Hd &1 B Y|

TR T A Mes 3 & wrar gy

ST Ui ) TgHT 1 TS T UY T IR FA1E:
U - Ui § $id faa! Ahiy @18 82

1. T

2. MeA

3. HIdTl
4, fan

Correct Answer :-

. MY

6) BT Hag T A

et Ik Aifg gu frra s a1 seTg @ |
S Pefd g 1 A S § €« @i
FIed gd garad St AH-T Y3 Al
Frat g foramafa ofr ufy 3fa 1 ara=r A
e FAYad g g gawR ot SAdtl

1 I Hgd | DI gl J STgHTT B Sl
®81 $3 3 N & 9 @ g Afg wa|

g g Hgd 19 8 T &Y @ AR ATl

TR g SRAeT MR  Fd WHd M|

Yool & ¢ Tard Ta1ad §9d 99 ggPEll
TS P AR W grefE wag 7 Wi
e g v &t A ard srgafa gi g~ S
GAE BT TAUS TaTS STHd o1 DI Y|

TR T A Mes 3 & wrar

ST U B UgHR A U T UY HT IR ga13d:
U - gRIIST AT T AP 5 I8 82

1. frasRt

2. Higd &I TR a1t

3. TABRI

4. QY G DI TS

Correct Answer :-



7) W& ST g&RT 19 TAM 81 98 TR & gRaof-gdl oR W fRud § T Taeiy 3k o3 Sie-B1 §1ul &1 398 ¢
39 B A S P i HTH F dieT oI GPdT 8- SU, FeAad! 3R femoi | A i € 35w werfedl | W e F R
TramaTd ¥ oY srca=a g7t B, 39T a8 @1 3% U e & 3¢ it T 7811 3 oM® Bie-Bie TR-I
TH-gTY A 3T 3R W @ &1 37 TR-Is4l & i ARy 0 F Iraa-ta 8- I9v R & ‘gagiar, aarad! um
# affvrer 3R gfaroft 4rT A et | e @Y eyt wd= € 9gd Al 9o Ridy Sfge-aipfae A9
& 3TAIH-g BT P5-fag 61| D! AdTed! AT Gd FAT H F-FATT St 3y IaAchl T R Y gaim| uiedt
TraTsd! 39T gd ® I8 SAfd TR W ug™ 8 N1 IR & ARIH-BTa B 0A & sfaer &1 Wol-gu1 71 S 21
UG & T BT 3T 814 & &1 99 Ugd ‘dsi=ar 3 SifueT W SmshHv H- &) ‘aiei=ar &) Jerur
wret el wifed # wd=y aral | 954 oMt 41 AT A 27 9uf a9 Wiel’ aral &1 garaan fear| o § 9@l
RIS §5 | 39 W & q1¢ 1t fifSe-arepfas =¥ S '1d=1 &1 g 371 39711 404 3.9d 0T 91 Wiorg g5 &
3R 427 3.9d g F fayuRis el ik faRe @et &1 97 g3 39 ToR Wel 7 30+ garawT & 3= =1
Pt RIog Ft fafiveT & 0t 39 o o AfeTRie RIS 1 94T us T |y ot

ITYe TR B YR 1 U 7T WY P IR 9153

U - AT 3t Wo A fraq adf qd grifre wet &1 50 gan?
12399

2.32qY

3. 100 ¥

4.25a4

Correct Answer :-

. 2399

8) W& &1 g’ W A g1 I8 IRIY F Sfaof-gdf 8 W fRa 3 T Uragiv 3R w8 S1e-9ie §ul &1 39g 81
39 B A I F 7 UFN A gieT o Jhdr 8- I, Aead! 3R gféntt A f € sw veifEal @ W 81 & FRUr
graraTd ¥ e s g7 g, mﬁqué&rww%aﬁqmmﬁqﬁwlwﬁm@%@%wm
TH-guY A AT 3R W @ &1 37 TR-Is4l & i ARy &0 F Ieaa-ta §- 3% URT & ‘qagi~ar, aarad! um
# affvrer 3R gfaroft 4rT A AT | e @Y ey wd= € 9gd Al 9o wRidy Sfge-wipfae A9
& 3TAIH-g BT P5-fag 61| B! AdTed! AT Gd FAT H F-RATT 1 3y IaAchl T G} Y gaim | uierdt
TraTsd! 39T gd ® I8 SAfd TR R ugd 5 N1 IR & ARIH-BTa B TA & sfag &1 Wol-gu1 /A S 21
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Y BI¢ T ¢ FI 9 YT A SieT oI Gobal 8- 3L, Headt 3 feof | 3 i1 € 3y veifsal @ W 81 & SR
graraTd ¥ g i gl €, i a8 W1 3% U R & el st w1dt veT1 3uH oM Bie-Bie WR-IWY
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1. HH G
2. 3feipT
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1. |rel

2. Heh g

3. 3fIhT
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2. afai-gdf eR W
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. afaofl-gdf ®R W
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1. HHGT
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. T
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T BT 3 B9 & &I 99 Ugd ‘Api-ar 3 <ARGT R HHI R f&an| dsi-ar ot qeurt <wred Farh
fed & TART e A 9gd SR A1 TART A 27 I b T qral BT Ghraar fEar o § 3P WIe™ g5 1 59
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raTaTd & fre srca g7 &, 3fT 98 W1 3= U I & e weft 1Y 31 3uH eMw BIe-BIe TR UH-
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2. Heh gl
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3. ot g
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. S0l Tarec! ST gd
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1. &iel
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1. FH-faxm
ARIEC

3. gl
4, fead

Correct Answer :-

. gH-fagH
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4, frfm

Correct Answer :-

21) W& $T GH 19 LA g1 98 TR & gfaoft-gdl oR W RUd ¢ T Ty 3k o5 Sie-BI glul o1 99g &
Y BI¢ A W B I YR | SicT o bl 8- I, AeAadt iR afarof | 3 A+ € Isu vgifsal & W 89 & srRur
qraTaTd & T S/ g7l 8, i 98 W1 3= TS A & 3¢l St 18 71 3uH 8w Bie-Bie TR U®-
TR A AT SR WA ¥E &1 37 RIS H FiF ARy T & Ieaa-a §- SR U & Adhg-ar, Headt ui |
P 3R Sferoft urT § dpifEr | 3 # Teur i § 9gd Al de R Hfge-aiefae aaa &
ATAD-FA T F5-fag ¥81 | B3 2raredt a1 gd g & -7 Y sryagd It 1 ER SR g3 | uied! Srareat
391 qd # gg A oUW ugd 73 N1 WG F UIH-PTa o1 A & gfagr &1 Wul-ga A S 3 1 iRee &
TG BT 3 81 & I 94 Ugd ‘ddi=ar J ARer R smpuur &% f&an aewi=ar @t teur e Fari
i & TART 91al A 9gd M A1 TAY A 27 U 9P XTIl aTal ST goraan fear| o # ISP WRed §351 39
RS & a1 W AfSH-Aiepias =fd F Td=T &1 agd a1 671 404 5.9d T 31 WRIo/ g8 A ok 427 S.qd A
F fayufis e ok fAaRe @l 1 971 gaMl 59 UPR Wel A U=l eyt § v I F1 Wiog Ft
faiifeT 3t | IS9P fora W efaeTRIe WIS &1 UM s WrHIfa® YTl

I TR BT UgHR 1 ID T Uy T 361 133
U= - RO & g1¢ it vd=T &1 9gd fHa =% A 91 @
1. Sfg®H Fuar

2. G Hal



3. 9d-%a
4. giHaT

Correct Answer :-

. Sfg® Juer

22) CANCELLED

1 Hag Tl AN

et % wif? gu fraa s g g @ B
IS el g 1 A < § € @it /@i
PTed 7[gd garad 9e ATRE-I Y At
Fat g famafa oy ufy 3 = aram A
e frya we g sawR # Sid

oY | Hgd A DI dlvgl TGt B Sl
HE1 B 3¢ R F WY Qo &) 1 |
g~ g wgd &I ¢ |G 3t 8 aRI ardll

TR ¢ wHIeT MY  Fd WTHd Md |

Pl ¢ ¢ qTel TH1ad §9d 99 GYPl

q IS Bt AR Hieht grafg wag 7 Wi
e g@ R 3t 3 ard sgafa gf g S
g P TAHS ST oI-9d &1 B Y|

TR T Hifg e &Y 9@ 8 wrar

ST UL B UgHR A4 U T Y P IR 9a133:

R - TR Uil # arae & Arar-far A 39 6 @der?
1. Fiifer I STelh g ATl

2. Hifeh qTetap foreh XgT Tl

3. Hifds STeIdh 3T T |

4. FI qTETH BT ITTIRT

Correct Answer :-

. FIP STeih HIITRIL

23) BT Hag T A

fordt % AR g fara wg O ST 8 Bt
TS wefa ga &Y 99 Sl § ® it @i
FIgd gd gaIad Sig AH- Y3 @il
Pral gy foramafa ofy i Sfa 1 ara= A
e AYa 7-He g gaR BT el

1 |l Sgd Hid B di-gl  Sgdfd &d Sl
T ) 38 v & aR @a= g Afg sira )
gy Fea PR AT B g R Al

TR g SreT TR § Fd W M|

Y1 ¢ 2 Tare TuTad §9d 99 ggPll
TS B R A qrefE wag T i
e g@ v 3t 3 ard srgafa g g
g P TAYS IqTS S0 81 I Y|

TR T WE e o1 6 & arar

ITa U B UEHR -1 U T Y T 37 qa133:



U - 911 1 fasd gRT e s 3T 32
1. 33

2. T

3. TS

4, foarst

Correct Answer :-

24) BT Hag Tt A

et &~ AR g fra WS ag 3eTg @ B
TSN wefa ga &Y 99 Sl § ® it @i
Pled T[gd garad sig ATRHE-I Yg @t
pral gy foramafa ofy ufa 3fa 1 ara= A
PN FAYaT a-HIE- g gaR &1 |t

1 I Hgd Tid &I divel g o gHfd od Sl
FET P 3fe T & R Qe g Afg sl

g g Fea P R AT HI g R @l

TR Hg WISl TR  d W M|

ged & & 1T Tarad §9d 9 ggPall

T HIE B AR At g3 E wag 7 @i
e g R 3t 3 a1d wrgafa g g S
g P TAYS IqTS 90 81 I Y|

TR T WE Mes &) 6 & arar g uai

ITd UL B Ugh? 12 D T UY HT IR Ta13:
T - ST [5d SR A e TE ST R?

1. I gY U B

2. 39 3 TTeTeh Ve TeT & B B

3. 34 e I RI B & B

4. 3T U A T 8|

Correct Answer :-

. A REAARTAE

25) BT Hag deIft A

et v MR gu R ws g 3eig 8 |1
St wefd 9a &1 &+t < § 8 @it @idt
PTed Ted garad e AH-A Yg it
FraY g framafa ofy ufy 3fa 1 are= At
R AYas w=wiE g gawR S St

Tl | wgd Hid &I divgl J Sgafd & Sl
HeT P 3fe R & 7N Qo &f g s

g g FEa P R AT B} R ATl

TR g SrEieT TR § Fd WHId T |

et & ¢ el TuTad g9d 99 ggP |l

T A B AR At 13 fE wag T i
e g R &t 3 a1d wrgafa g g S



YAg BT TAHS TTS F=9d 51 BT Yd |
TR [T HifE e B 6 @ AT el

IWIT UL B UG A1 TR T UY HT IR Ta13:

TR - U1 B Uf «HTe $1 8 o) a1 A <ara o7 o g 82
1.71q

2. T

3. dicish

4. X

Correct Answer :-

26) A1 FHag Tt At

fordt % AR g fraa wg O orTg @ Bt
TS wefa ga &Y 9 Sl § ® it @i
FIgd [gd gaTad Stg AH- Y3 @il
pral gy foramafa ofy ufa Sfa 1 ara= A
W FAYaT a-HIE g AR 1 |t

1 |l Sgd Hid B di-gl  Sgdfd &d Sl
P8I BRI 3¢ N9 & AR Qo gt AfE wra|

g g Fed PR AT HI g R Al

TR =g Srel TR § Fd W M|

Y@l ¢  TaTd AaTad 9 TS GBI Il

T HIE B AR At g3 E wag 7 @i
e g R 3t 3 a1d wrgafa g g S
g P TAYS IqTS 90 81 I Y|

TR T WE e o1 6 & arar g

ITY UL B Ugh? A2 D T UY BT IR Ta13:
U= - Ui # 1aTel 91679 fhd YR A 78 &2

1. I ADR

2. AEdhR

3, ZHAR
4, T[h

Correct Answer :-

. B! ABR

27) BT Hag 9t A

et R} MR gu R ws ag 3eig 2 |
St wefd 9a ot &5t < § § @it @idt
PTed Ted garad e AH-3 Yg didti
FraY g framafa ofy ufy 3fa 7 are= At
RSN AYas w=wE g gawR S St

Tl | wgd Hid &I divgl J Sgafd & Sl
HeT B3 3¢ N & AR W g1 1 |
Ry ega P AT B g R Al



TR g SISl TR S I Td |

Yot & ¢ TaTel TuTad g9d 99 ggP |l

T HIE B AR Wt efE wag T D
e g9 R &t 3 a1d wrgafa g g S
GIg DT TAHK ITS o9 o1 DI Y|

TR T HifE e &Y 6 @ A e

I UL B USh Ai1e U T UY BT IR Ta134:

TR - Uiy § SmRfY <3 TRRA Y ad ® y$ w1 erf @2
1. Y@

2. 3

3.U8
4. 9ret

Correct Answer :-

28) AU1 FHag it At

fordt % AR g foraa ug O ST @ Bt
TS wefa ga &Y 95t S § § aiet @i
FIgd [gd gaIad Stg AH- Y3 Al
w1t gy famafa ofr ufy gfa = are= At
HRerd Frya- w=Hied sk gawR S &t

I |l Sgd Hid B divgl  ogdfd &d Sl
eI P 3fe N P AR Qo gl 918 9|
gAY Fed P I AT HI g R Al

TR =g ST MY  Hd WTHS T |

Y@l 3 & TaTd TuTad §0d Wa ggeall
TS B AR Wt el wag T D
e g R &t & a1d srgafa g g S
g P TAYS IqTS o0 81 DI Y|

TR T A e 9@ & Arar Qua i

ST UL B Ughs A1 TR T UY HT IR Ta133:
UL - Y 9T gedb! A- Y 61 g9d 82

1L WHITWR

2.GUATH W

3. 9T R

4. QU W

Correct Answer :-
e WHITR

29) BT Hag Tt A

et v MR gu fra ws g 3eTg g |
i pefa ga &Y 3+ w4l § 8 @it Wit
PTed Ted garad o AH-A Yg et
FraY g framafa ofr ufy 3fe 7 are= At
R FArya- w=Hie s gawR St



qt i Hgd HId DI divgl J STgATd Hd St i
F1 3 38 v & aR @a= g Afg sma)

g g sga s AT S g R ardll

TR Hg WISl TR § d W M|

Feo! ¢ ¢ e TuTad g9d 9a GBIl
TS B AR W gefE wag T
e g9 R 3t 3 a1d wrgafa g g S
g P TAYS IqTS S0 81 I Y|

TR T WE e &1 5 & arar ua

IUYTd U B Ugh? A2 D T UY HT IR Ta13:
U - ‘qAGIS,’ DI Jult Bt 32

1. BT 3R AT

2. Aeft SR A1

3. Tt 3R Pt

4. TUST 3R

Correct Answer :-
. et AR A

30) AT Hag Tt A

et R} MR gu R ws ag 3eig 2 |1
St wefd 9a o1 &+t < § § @it @idt
PTed Ted garad e AH-A Yg didti
Frat g framafa afy ufy 3f 1 are= At
GRS AIYas weHE g gawR S St

Tl | wgd Hid &I divgl J Sgafd & Sl
He1 B3 3¢ N & AR W g1 g S|

I g Pea P R AT S R} R Al

TR g HeT TR § Fd WRId T |

Yedl ¢ ¢ TaTd AaTad 9 99 GgPbIa Il

T HIE B AR Wt S3fE Fag T
e g@ i &t & ard sgafa g g &
g H TAYS Id1S -9 81 I Y|

TR T A e 39 g arar Qua il

I UL B UGh? A9 D T UY BT IR Ta134:

W - HIAT A ST ®I gy T IR T 11 BT STYRIA feam o
1. A §g1 BT

2. TdTS dg BT

3. IE dgH Bl

4. glg de B

Correct Answer :-

Topic:- Social Science (S5C)



1) What do you mean by ‘Eurytherm’ organisms? / “gyardl” (gtyw) siial @ 3y w1 qugd 82
1. It does not need oxygen to survive. /3@ Sifad QTE:'ef & 1%‘1"1 SIS B Il ﬁ%ﬁ?ﬁl

2. It is able to tolerate a wide range of altitude. / I8 3 TS B T ﬁﬁﬁ P CK]l D1 g H § F&™ glar
gl

3. It is able to tolerate a wide range of PH value. / g PH HIT Gl ﬁﬂﬂ?ﬁrﬂ DI g F3A H G BT ]|

4. It is able to tolerate a wide range of ambient temperatures. / dg giRa=ht aroHHEl B U ﬁﬁﬁ el Cal
e B3 W & BT 6 |

Correct Answer :-

« Itis able to tolerate a wide range of ambient temperatures. / dg giRa=h dgaH! &t U ﬁ'{ﬂa PIC]! Cal
e B H 9eH g gl

2) Which of the following was/were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment.
2. Indifference to the authority of the Vedas.
3. Denial of efficacy of rituals.
Fafafaa & @ 919 9 o ok 39wl gt & forg wm= ur?
1. TURIT SR W BT TRA HH7 9§ g9
2. 451 & SRPR P ufd Igrft=ar
3.38M B YUTTHTRAT I SABR
1. 1 only/ $Had 1
2. 1and2/1Qd2
3.2 only/ $Had 2

4.1,2and3/1,2Td 3

Correct Answer :-

« 1,2and3/1,2Td3

3) The position if the sun, the earth, and the moon are in straight line is called: / ﬁff, T«‘Iﬁ MR ST DI
W Y A g1 R R F) a1 wrar 8:

1. Cliff / foa®

2. Conjunction / gi%f

3. Seiche / STAGIE )3H(

4. Syzygy / Ffafagfa fog Rrersfoi

Correct Answer :-

- Syzygy / gfafagfa feig )Rrersfoi



4) The celebrated monarch known by the epithet “Devanamapiya Piyadaasi” was: /U1 J9Te Y STy
3 g Rgewdt” am @ oM o 3

1. Kanishka / HTH
2. Ashoka / 3TN

3. Chandragupta Vikramaditya / tjﬁ‘itd EEREIIES?)

4. Akbar / bR

Correct Answer :-

« Ashoka / 32N

5) Kanishka’s rule extended over Afghanistan and part of north India and he had
established two capitals, One was Purushapura. Which was the other? | HfTsh BT T
SEITARAT 3R IR R F e wR favga o1 3k 391 S el @) v 3t f, o
| TP A qSUYRTI gad B At A2

1. Taxila / &R
2. Mathura / HYRT

3. Pataliputra / uw?ﬁga

4. Sakala / gHhTdl

Correct Answer :-

+ Mathura / HYXT

6) Under which dynasty, earliest inscriptional information on land grants is provided? /

e T & siata, YA e WR I9d Uy RIaed SHeR UeH ot Sl 872
1. The Mauryas / H1d

2. The Satavahanas / HIddlg-

3. The Sakas / R

4. The Guptas / 7t

Correct Answer :-

« The Satavahanas / dlddlg-

7) The Minimum Support Price was introduced in India in the year ./ ~gAdH Tadq HeY
HRA H a9 H Oy foba T T

1. 1964

2. 1984

3.1974

4. 1954



Correct Answer :-

« 1964

8) What is a favourable balance of trade? / TTIR BT TP P Hga- T a2
1. Exports equals imports / fafa smara & SRR %

2. Exports must be greater than imports / fafa smara ¥ sifde Gl BlIRY

3. Increase quotas / HicT EEFLY

4. Imports must be greater than exports / fafa &t KL T 3f1aTd 3% gH ElIRY

Correct Answer :-

« Exports must be greater than imports / fafa smara ¥ sifde g Bl

9) aimed at providing credit or loan and other facilities to the small and marginal farmers,
agricultural labourers, artisans and small entrepreneurs in rural areas. / Cd) Ga'm pIeiLf
&=t A BT 3N Hwid frar, HY 7o, FRITRY 3R Bie IaRAl B Ho1 71 H01 3R 370
IS YeH AT 3|

1. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgIHT el Q‘I‘Q’qﬂTﬁﬂ'ﬂT ISR TRE
ST (F=m)

2. Prime Minister Rural Development Fellows Scheme / GUTHAT ATHIU fadT Brall o1
3. The Rural area Regulatory Board / UTHIUT &3 e ats
4. The Regional Rural Banks / &g U0 §b

Correct Answer :-

+ The Regional Rural Banks / aftg arfior d

10) What type of stream pattern develops on a dome type area? / 59 yoR &1 3(uare aE_"f'ﬂﬁT:{ &
ToR & &7 H fawsRia giar 82

1. Radial / 3’19 (ST

2. Parallel / FHMIR

3. Dendritic / GHIHIAD (J&THR)
4. Trellis / STTCIAT

Correct Answer :-

. Radial / 3R1T fSTa)

11) In which river valley hominid fossil has been discovered in India? / HIRd A foyg qﬂ LI K

sififrs Sitare oY @i 91 715 82



1. None of these / §TH J BIg 11
2. Ganges / T

3. Indus / ﬁf@

4. Narmada / THST

Correct Answer :-

« Narmada / '_‘Iﬁ?[

12) Who reviews the distribution of revenues between the State and Local Governments on the one
hand and between rural and urban Local Governments on the other? / U 3R I 3R VI
WHRI & a7 SR gt 3R Urftor 3R et R IWReRT & ot Torea & faavor ot Ieiten
P BT 87

1. District Finance Commission / oTelT famt S
2. Union Finance Commission / &1d <l AR
3. State Finance Commission / X1o9 faT ST

4. Zilla Parishad / foreT uRug

Correct Answer :-

. State Finance Commission / I1od fa< 3TIRT

13) Who is the head of the Indian Republic? / YRAI TG %mﬁq g2
1. President / TIE'CIﬁ

2. Prime Minister / HHTHAT

3. Parliament / §9¢

4. Judiciary / <ITUTCThT

Correct Answer :-

o President/ ?Tgcﬁ%l

14) Who is the author of “Deschooling Society”? / gt Wﬁm W" & AGP P %?
1. John Locke / SIF @i

2. Jacques Rousseau / SR =T

3. Jean Piaget / STH fOaTo!

4. Tvan Illich / ST Sferg

Correct Answer :-

« Ivan Illich / 3T Sferg



15) Who said that, “Non-alignment is more or less a residue of historical circumstances, we cannot
align ourselves with the West, with its colonialism, and there is no question of course of joining the

Soviet bloc”. / fbaA ®gT %, «T[e e, vy efaeTie ulfRufadl @1 siftre a1 %9 saw
%,sng?%wﬁawmﬁm%mwﬁgqﬁm,aﬁvﬁmﬁgzﬁmﬁﬁﬁmaﬁi
gard I”

1. Nehru / g%
2. Krishna Menon / W[ o
3. Tito / fe)

4. Nkrumah / <pHIg
Correct Answer :-

+ Krishna Menon / [ o

16) Who is the overall in charge of the efficient and fair conduct of elections in the concerned

constituency? / T fafe= aaﬁ%fna‘r%?m 3R e Tare & I HR B 82
1. Polling officers / HdGIH HfIBRI

2. Returning Officer / fafem (ﬁ?ﬁ:ﬂ) B RY

3. Presiding officers / e SR

4. Visiting / 3T

Correct Answer :-

« Returning Officer / FAafem (¥effm) sif¥ert

17) Who was known as “Hazar Dinari”? / "g9IIR ﬁmﬁ" & >q | ﬁﬂ CIEESIG) '&?
1. Balban / dfcdId-

2. Razia/ Qi@q

3. Mallik Kafur / Afcid HTHR

4. Tltutmish / Sec ORI

Correct Answer :-

. Mallik Kafur / fcid BHIHR

18) Finding the relation between “altitude” and “temperature” with the help of given examples

happens in which approach"/ﬁqwmaﬁm'\ﬁ"m ' 3R "ATTHE" P T oY BT
Tl T 9 SURTH | gl 8: -

1. Concentric / b fad
2. Chronological / WW



3. Inductive / ITTHATHD
4. Deductive / ﬁﬂ:rm

Correct Answer :-

+ Inductive / ANTHATHD

19) In a Parliamentary form of executive it is essential that the Prime Minister has the support of the
majority in ./ T AR H g iraxae g & uurEh & 9gwa &1 9wdq
HE

1. Rajya Sabha / JTSUHHT

2. Parliament / TG

3. Lok Sabha / T4

4. Vidhan Sabha / faemguT

Correct Answer :-

« Lok Sabha / ST HT

20) Receiving, responding, valuing, organizing and characterizing are the levels of which of the
following domain? / UTG =TT, Ufafsrar &1, AT BT, SqafRUd ST 3R qUIH 159
ST & WK &:-

1. Affective / HIdTHD

2. Revised Taxonomy / TN AT
3. Psychomotor / H: IR$

4. Cognitive / TITH®D

Correct Answer :-

« Affective / HIATHD

21) During the Mughal rule which of the following traders came to India first? / ¢l I &

IR P 7 9 S 91 AR Ugd HIRd ST U1?
1. English / 3{USH
2. Danish/éﬁm

3. Dutch /&d

4. Portuguese / Q?ﬁTl?ﬁ
Correct Answer :-

 Portuguese / QT‘T"'H(_*F[



22) is a system of government in which the power is divided between a central authority
and various constituent units of the country. / TXHR DI Udh HUTTert % foraw gt ot
TP H4g UTIepRor 3R 21 91 fafire gee sorgal & = fawifoma fear smar g1

1. Decentralization / fdd<iaRor
2. Centralization / AIHRUT

3. Federalism / JUdlq

4. Democracy / SFda

Correct Answer :-

« Federalism / 99dIqG

23) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / Udh ufeear % forad

< R & fafta P axga & Hatem, Hsrur, uRagH, 3o iR faazor =nfare gia 81
1. Rural development / PICIUREETES

2. Rural marketing / greTor fagoE

3. Agricultural marketing / ?ﬁf fauu

4. Agricultural networking / ?f@f Feafd

Correct Answer :-

« Agricultural marketing / ?ﬁ fauu=

24) The Planning Commission was set up in ./ QIS START S RITYT A&t Tl'g
4t

1. 1960
2. 1940
3.1950
4.1945

Correct Answer :-

« 1950

25) The evidence of pit dwellings have been discovered from which of the following Ancient Indian

sites? / FraferfEa o & for urls Ut =l @ Tafarat & yHmr &t @i g8 32
1. Lothal / aYd

2. Burzahom / @G@ﬂ
3. Ropar / ﬂu—s



4. Kalibangan / CARIEHI

Correct Answer :-

e Burzahom / QTT%TH

26) The most prominent challenge faced by a social science teacher is: / grHTfore fagm= e &

T e T g g 8

1. Inadequacy of text book and handbooks / YIS YIdh 3R glr%\dOhIGﬁ ®1 oAt
2. Inadequacy of in-service training programs / JATHT UTRIE0T HRIHHI BT oafwar

3. Lack of proper evaluation tools and techniques / SER J-Ll\ctlid)"I JUBRU 3R qh-1eh] bl 3HTT

4, Insufficient time to attain long-term objectives / LEAINCY BQQZ] [ &1 et o forg AT g

Correct Answer :-

« Insufficient time to attain long-term objectives / HLEAINCY 33?23] [ 1 Tt o forg KIspiivcicrans)

27) The most suitable approach to promote interactive environment in social science class is: /
TS faE B F&T § WRER AaTerd® URART B 9¢1dT ¢ & g Jad Iugad @i
___®I

1. Frequent testing / e Ti&ror

2. Showing documentation / TTATAS 2T

3. Lecture and explanation / SRSHTT 3R TR
4. Cooperative learning / TehRT S

Correct Answer :-

. Cooperative learning / G8HRI SHIRTH

28) The method of inquiry-based learning which gives students time and support, they can pose
original question and investigate through their own methods is known as: / S-St SiferTe &1
Ui ot B & U 3R T ye Hdl 7, ORI 3 Ia Y 3T SR JHHdhR WA &
AP! & H1H | Wd $Rd &, I 79 S FY § 11 o1l 3

1. Structured inquiry / WRfed S

2. Conformation inquiry / faw=gu S
3. Guided inquiry / e FRrd Sifer

4. Open inquiry / Q?ﬁ Side

Correct Answer :-

+ Open inquiry / Eif‘ﬁ S



29) The Village and Small Scale Industries-Committee are also known as ./ 9T 3R

dgITNIRfaH  FEuA N EFTEEr g
1. Desai Committee / éw% gfafa

2. Krishnan Committee / W[ it

3. Karve Committee / BTd TTHId

4. Rao Committee / X AT

Correct Answer :-

» Karve Committee / ?ﬂa:ﬂﬁlﬁf

30) The method that does not help to develop critical thinking skills among the students is: / g fafer

<l B ¥ 99 Teaqf S P ReRd e  aeg TeT oedie, &l
1. Rote learning / 3R fafey sifermm

2. Project based learning / giRareT e S

3. Collaborative learning / H_E:'CnTI'lIUf ST

4. Self-regulated learning / a-fafafird sfferma

Correct Answer :-

« Rote learning / PSR fafer siferme

31) The demerit of problem solving method is: / HHXT fFrarur fafe &1 ST %I
1. It is purely individualistic in nature. / g Wﬁf o ﬁ"\ﬂ@ w0 J Afadare! g
2. It brings affective changes. / g HhRIHD IRCRRANIG]) % |

3. It does not help in easy assimilation of knowledge. / dg T4 P AT T THITT B H Haa qﬁ
CGI

4. It does not develop power for critical thinking. / Jg g IEEED 1%111 & faw Rid 781 ol %I

Correct Answer :-

« It is purely individualistic in nature. / g Wﬁf | ﬁ"\ﬂ@ w0 J Afedare! g

32) The Government can present demands in the middle of the financial year if it feels
that more money is required than estimated in the annual budget. / RPN R ad F A d

3t 7T (SUUS) Uegd B Pl € afe 37 T § b arftie aeie # 3rgu = & 3iftre «
B ATTIHAT g |

1. Complementary / b
2. Need — based / SHTaRGh -3
3. Mid — term / 1A



4. Supplementary demands / 3TJYIh
Correct Answer :-

+ Supplementary demands / ST

33) Which one of the following is not the nature of social science? / Frafefaa # 9 #19 amfere
fag ot upfa =gt 82

1. Study of man’s development through ages / g,?ﬁ | H¥ & faeTg &1 sremg
2. Study of human relationship / HI1d el BT 3

3. Unrealistic course of study / &I hT 3T yTefare uTsashH

4. A unique combination of various subjects / fafir fowt &1 U 3ol BRI

Correct Answer :-

« Unrealistic course of study / &I [ HY rfarc} ureusH

34) Which one of the following is measured through CCE? /Frafafead s ﬁm & HTeEd o
HIUT 7T 82

1. Physical and motor development of students only / &Id BT b1 ARING 3R AFRYG-Taieh fawr |

2. Scholastic and co-scholastic achievement / Hdd ﬁ% 3ﬁ? W-W RLIES

3. Co-curricular achievement only / Had Yg-Uredshd Iudis|
4, Gradients of scholastic achievement only / Fad s Iuafel & JdR-deld|

Correct Answer :-

« Scholastic and co-scholastic achievement / dd ﬁf?z@ G?R Wé’-ﬁ% Iuarsy

35) Which schedule of the Constitution prescribes a list of 18 functions to be performed by the urban

local bodies? / FfAeT 1 fore St ¥ 3t R A gRT fHT 91+ a1dt 18 w14l &1 Gt
Rruifea St g2

1. 12t/ 124
2. oth/ o5

3. 10t / 104t
4. 11t 7 11f

Correct Answer :-

. 12th/ 1t



Which is the most suitable philosophical approach that is capable of inculcating absolute values
among students through the teaching of social studies? / dg DI 9T g SUYdd RifF® efd@ion
2 Ot AT 3reaaT & RISV & ATeny | B & o9 rul el ol faw g & § e 82

1. Realistic approach / gyTfarl m

2. Idealistic approach / STGRIATS! 2RI
3. Naturalistic approach / m m
4. Pragmatic approach / EQTGETW m

Correct Answer :-

« Idealistic approach / 3fTeRfard! EfHiu

37) Which is the Lightest layer of the earth? / q&ﬁ CAR: G Eﬁ% WRd oA It %?
1. Lower Mantle / 9l (UTAR )Hed

2. Upper Mantle / S CICIES) Hed

3. Crust / Y TUeT (4Teq)
4. Core / TS

Correct Answer :-

. Crust/ Y JUct (YUea)

38) Which of the following methods is capable of enhancing psycho-motor abilities of students? /

frrafafad 7 @ w17 @ faft ol 1 99.% srarsh o1 9gm A |a™ 3
1. Simulated method / ?ﬁ’q fafd
2. Work experience method / Gap| 3JHd fafr

3. Lecture method / SRS fafd
4. Demonstration method / EI_Q"Q'h fafer

Correct Answer :-

« Work experience method / Eap HJHd fafer

39) Which of the following is not the educational objective in the teaching of social studies? /

Profafea d @ o g s » e § e sexg a8 22
1. Preservation of democracy as a value system / e JUITcH o 0 H qlead BT UR&or

2. Creating and maintaining democratic citizenship / AHhdifAe AR o1 Ao BT 3R I H1aH
RECEIl

3. Conquering the territorial jurisdiction of neighboring countries / q@?ﬂ o & HYBR &7 R fasg
YTt HRAT



4. Peaceful co-existence of people in this earth / g8 qﬁ’r TR ARl 1 TZ'I'IﬁI'q:UT 8- 3l

Correct Answer :-

« Conquering the territorial jurisdiction of neighboring countries / m oM & HYBR &7 R fasa
YT bl

40) Which of the following type of Agriculture is also known as Jhoom cultivation in India? /

fafafea ¥ 9 {59 ToR o1 $ B YRa & g5 @l & 99 F Wt =71 o g2
1. Primitive substance agriculture / 3TfGH Tardf HiY
2. Extensive substance agriculture / HTUdH Wﬁ?ﬁf

3. Extensive commercial grain cultivation / odUd Gl ERRIE CHEERI]
4. Mixed farming / THf8d Wit

Correct Answer :-

+ Primitive substance agriculture / e Wﬁ?ﬁf

41) Which of the following dynasty was ruling in India, when Alexander invaded India? / Fafaftaa
A A DI AT ISG HRd H IR B 8T AT, O e 7 HRd UR IThHUT fhar?

1. Nanda dynasty / <G 9%

2. Shunga dynasty / "{ET Rl
3. Gupta dynasty / Tt 921

4. Mauryan dynasty / R a9

Correct Answer :-

« Nanda dynasty / 5c dxT

42) Which is recognised as one of the first environmental movements in the country? / e a'QT |

gd rafaRuiiy shigial # ¥ U & U § H=dr Ut 82
1. Chipko Movement / Rg®! sfigia
2. Kisan Movement / fogm= 31@?17[

3. Lok Satta Movement / GITopT C’ri'lc‘:IcH

4. Narmada Bachao Aandolan / :I'Lfa'[ EEIR] &rra%ﬂ

Correct Answer :-

« Chipko Movement / Fergen] 3fiqre

43) Which among the following is not a scoring tool to evaluate the quality of students? / BT DY

VTG T Yedichd 1 & fore fFraferfad & ¥ &1 91 Wi Susrur 98 32



1. Rubrics / STsidh

2. Observation / gl

3. Checklist / IepferRe

4. Rating scale / b QAT

Correct Answer :-

« Observation / 3(dAIHT

44) Which among the following is one of the first commercial banks established in India? /

frrafafEd 7 @ o1 91 yRa 7 wiifta yyw aiftifs def A we 32
1. State Bank of India / HRGIT ¥T o

2. Bank of Hindustan / d& siim %w

3. Bank of India / 9% 3{1th ST

4. Central Bank of India / @?Aﬂ & 3T Sfean

Correct Answer :-

« Bank of Hindustan / §& 3{T %W

45) Which one is not a characteristic of summative evaluation? / /9 T @ ®I9 aRTIeI® b
1 U fasiwar 181 32

1. It is done on a continuum/%ﬁ@W% WWWWW%I
2. Knowledge of results is not possible / UROTA} &1 I IHT Tel %I

3. It is used for promotion [/ THDI ITINT Had TR & f%ﬂ;f o S %’I
4. Tt is having a judgmental attitude / T8 Ueh ATeE-THD I3TT U & |

Correct Answer :-

« Knowledge of results is not possible / UROMA} &1 I IHT el %I

46) How many Tirthankaras are in Jainism? / 99 & # foraa ez A2
1.24

2.4

3.34

4.14

Correct Answer :-

. 24



47) Who were Manu, Narada and Brihaspati? / H, TRq Gﬁ?'q%'\‘qﬁ'ﬁﬂ' 2
1. Mathematicians of ancient India. / U YRd & 1T[ﬁl?ﬁfl

2. Jain scholars. / S fag |

3. Gods of Vedic religion. / afees yvi & Sadl

4. Law givers of ancient India /EI'I?ﬂT-T YRd &b YRR |

Correct Answer :-

« Law givers of ancient India /EI'IEﬁ:f YRd & ATIPR|

48) Deliberate reduction in the exchange value of a country’s monetary unit is termed as

. | T I B Aifge o » AN g A arqger S it sfis_ werwErel
1. Depreciation / HcIg
2. Revaluation / GTHedH
3. Re-evaluation / ;- HcATdh
4. Devaluation / 3faHcd

Correct Answer :-

+ Devaluation / 3{dHcd

49) National Rural Health Mission in India was launched on ./ Q-I‘R‘dﬁ?l‘@'ﬂ‘;lTFﬁUT
Wy i & H Y= fovam mar T

1. April 2010 / 319, 2010
2. April 2008 / 3f3d, 2008
3. April 2006 / 3i01d, 2006
4, April 2005 / 30, 2005

Correct Answer :-

« April 2005 / 3{Ud, 2005

50) Which economic system shows both the characteristic features of capitalist and socialist

system? / B It 3nfde yomeft yeitard) iz guTeTard vomedt @1 QY fafkry faRdwarsi #t giid 82
1. Planned economic system / fafora enffe gomeft

2. Command economic system / ﬁ%&lﬂ 3 gomeRt

3. Market economic system / dIWIIX 3ffer gomeft

4. Mixed economic system / o3 snfdfes voment

Correct Answer :-



« Mixed economic system / THI%d 3T ToTTelt
51) CANCELLED

Who among the following are not the women Presidents of Indian National Congress? | Frafafea |

A DI YR AT ST BT Afgan sreme Ta A

1. Kamala Devi Chattopadhyaya / HHATGd] tlg\lql‘&lltl

2. Aruna Asaf Ali / 3SUT 3T 37l
3. Annie Besant / Q:ﬁ GE[
4. Sarojini Naidu / SRIFSH! A9

Correct Answer :-

« Kamala Devi Chattopadhyaya / HHATGA! Elé Uiy

52) Which legendary Sufi saint of Chishti order was popularly known as ‘Chirag-e-Dehlavi (Chirag

of Delhi)’? / IR} saawT & 4 ulrg gwl Oa &1 «RRT-u-dgad! (el &1 R F AW @
ST STl Y12

1. Abu Ahmad Chisti / 3§ 3{gHg fo=dt

2. Shaikh Nasiruddin Mahmud / %9 %8 - Hg4a
3. Qutbuddin Bakhtiyar Kaki / Pcg - SR&IAR It
4. Nizamuddin Auliya / ﬁ\_lﬂ'ﬂ@:l 3ffern

Correct Answer :-

« Shaikh Nasiruddin Mahmud / G 74158 14 HgH4g

53) Which ruler shifted the Ashokan Pillars from Topra and Meerut to New Delhi? / g zma® A

TIIRT 3R AYG ¥ 3 Wil &t 1% feeeht & wuriafva fasar
1. Balban / d¢fd
2. Muhammad Bin Tuglaq / e/ fam UNED

3. Giyasuddin Tughlaq / FTRATGE A iTeidh
4, Firoz Shah Tughlaq / SN RURKRINED

Correct Answer :-

« Firoz Shah Tughlaq / RIS T8 UNES

54) Kavi Vatsal was a title assumed by which Satavahana king? / “Hfd TTA” TP e fre
HIAaTg= Il GRT S UT?

1. Yajna sri satkarni / 931 off e off



2. Vasisthaputra Pulumavi / af?rgg;r g,qna“r
3. Hala / &TcIl

4. Gautamiputra Satkani / m SRRl

Correct Answer :-

o Hala /@Il

55) International Network of Bamboo & Rattan (INBAR) is located at? / ST MR dq BT GI?R".@TT

Aead (AMETCTATIHR) Foi R Ra 2
1. Colombo / BTSN

2. Guwahati / T[dTgTC!

3. Beijing / SIS

4. Dhaka / @I

Correct Answer :-
« Beijing / SIS

56) Which of the following strait separates USA & Russia? / Frafafea # 9 #9 @

STy SART 3R T4 P e Sl o2
1. Bering Strait / ST STerifY

2. Semiostrovskiy Reid / @Iﬂ&r“r@a%? e

3. Fram Strait / TpTH STer< (e

4, M’Clure Strait / UH degX NNRIE]

Correct Answer :-

« Bering Strait / SR STerifY

57) ‘Silent Spring’ is an important book published in 1962. It documented the adverse effect on the
environment by the indiscriminate use of the pesticides. Who is the author of this book? / ‘Fl?gﬁf

BT, 1962 W UHTRIG TH Te@qul [RaP 8 | I BICAIRID| & ST STANT A TIiavor iR
USH aTa ufdgd UHTd & TR | a1 31 39 A & dW@® S 8?2

1. Annie Dillard / Tt f&aTS

2. Virginia Arthur / goiffar 3k
3. Kathryn Miles / GINE EBIELSS!
4. Rachel Carson / IR B

Correct Answer :-

« Rachel Carson / IR ST



58) Which among the following states is built the Bharat Bangladesh Moitree Udyan? / Frafafea |

4 fp 15 7 WRa Siverew A S AT e
1. West Bengal / Tigy ST

2. Tripura / ﬁg}T

3. Meghalaya / TYTer™

4, Nagaland / BN

Correct Answer :-

o Tripura/ ﬁg}[

59) Anemometer is used to measure which of the following. / fafafead A PR A & ﬁl’E
TR 31 IuahT fHar S g |

1. Wind Velocity / Ud— aT

2. Wind Direction / Ua- &1 fa=I
3. Humidity / 3T&l

4. Air Pressure / d1g QId

Correct Answer :-

. Wind Velocity / 9a- a1

60) Falkland Island is a disputed territory between? | BIPAS &u frad d= Udh ﬁ'ﬂTﬁT‘f 833 %?
1. West Indies and Spain / 3123%%[ GhT T

2. Uruguay and France / T 3R Y

3. Chile and Ecuador / faIeit 3h? 3@7@?

4. Argentina and UK / 3fSIEHT 3R 11%

Correct Answer :-

« Argentina and UK / 3OS 3R ajs



